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Mid Term Review '

1. A)Completely Factor x4 — 18x2 + 81

B) What are the zeros
C)What'is the Y intercept? D)Degree =
E) What is the end behaviotx —~w flx) =
x =+ flx) >
?’j‘;}\:-
Skeich the Graph. ¢ .
2. Factor x? — 64 3. A rock is dropped from a bridge from a
height of 576 feet. The hight of the bridge is
modeled by the equation h(f) =162 + 784,
where A(:) is the height of the bridge in feet
Answer o and 7 is the time in seconds. When will the
e rock hit the water. (Show your work by
factoring and include proper units,
A)Factored Form e
ByAnswer (= ... .
k]
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Quotignt B)Is

the divisor a factor?_____ . Listthe

. Use synthetic division to divide.

(-3x3 +19%% +30x + 8] + (x+4)

Answer,
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Factor the polynomial compietely. You Must - - 11, 18%+5x7 + 1545
Show Work on.9-11

8. 49" 36

Answerr,

&3,
9',, X =55 +4Ax AIISWEI"

12.  A)Compleiely write in 5x3 + 5x* - 30x in
factored form.

L —

Answer ..

B):What are the zeros,. .

10, 8xt6x=27

C)What is the Y imtercept]
Dy Degree e oot

E) What is the end behavior
x=2>-0 flay=>_ x40 fl),

Sketch the Girap

Answer,

A,
)_i_ﬁ'
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13. The fableshows the growth of a dandelion plant over the caurse of 5 days What'isatie.average satwofichange:d m
the growth of the: Dandelionfrom Day 1 to Day 47 Roundydtifansweré themedbest: uiidradih:
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15, m\\o& s the yfm%rc«ap}ro%\ <
16, Is (x+2) a factor of x % x t&\x HO\C'-%)

YOur reasoning,

f(x)~x +5x - 9%~ 6 is divided by.(x-2)

‘17:; The table shows:the daily account balance of a checking account.

A . 35575 | 32516 | 31722 | 28088 | 15437
| Balance {in | ' | '
dollars) |

What is the average rate of change in the account balance from Day 1 to Day 4.

19, A fanch )iié used to sepresent the number of items sold at a store during business hours x. The table
shiows sémie values for the function, '

o S . B s |

"THe average rate of change-of l(x) over the interval 1 <x < 4is Jl

‘What is the missing value:in the table?

20.,

A polyn_om:al f(x) is dw;ded by four dlffercnt hnear uxpressmns as izsted . the table. The resulting
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22.. The.difference oficubes identity will be.used lo.

23.. “Given the poiynaxmai 2x H}x 15, determine the

2% Cons:der the expless‘on

+Seléct the factors of x>+ 5x” — 5x — 25

Dz A

_ Mark the box of cach factor

ELB)25
los

: The. Otﬁ'ef.Squtzon tox 1s —
| E) -5 T

1915

determine the difference between 216 and 64.
& =8 = (a —b)a® +ab +b%)

216~ 64.= (2)(36+ 24+ 16)
What values of 3 and b should be used? Select
the two that apply.
M. a=6
P.g= 1_0
R.a=18
T.b=8§
Vib= 16

values of x where the glaph of the polynomial
-orosses-the ¥ axis.

‘Select one valye: from each box to correctly
complete the following statements.

D) -5

F)3

f?) (sc *2)

ions that are cquivalent to

3}3

L AB)2




